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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-I
Examination of the Four/Five-Year Degree Course, 2018-19
SEMESTER-II
FUNDAMENTALS OF AGRICULTURAL ECONOMICS
(AGECON-121)

Time : 2 Hours

Section—I :10
Maximum Marks : 70
Section—1II: 60

Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions
in Question-booklet. Answers of Question Nos. 3, 4, 5, 6 and 7 be written in
the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,
only the English version be taken as correct.
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SECTION -1
quE - |
Time : 20 Minutes]) [Maximum Marks : 10

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.
TAETIHE 91 (. 6. 1 T 2) B WA-T A § 50 o0 € < fF widew g7 wan sy wn
% 20 fre ovam @ fearn smm
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1. Choose the correct answer and write the number of correct answer 1 or 2 or 3 or 4 in the square

given against each sub-question. (10x0.5=5)
TE IW Td T IUR FSA 1 A2 A 3 A 4 TAS IU-WA & 9 3 ™ =i A fafEu
(i)  Growth definition of Economics was given by D

(1) Prof. Samuelson
(2) Prof. Marshall
(3) Prof. Robbins
(4) Prof. J.S. Mill.

sy #1 faem oy fras g & R
(1) W g

(2) W \rE

3) W e

4) W um faen

(i) Marginal utility always : __'__|
(1) Increase
(2) Decrease
(3) Sometimes increase
(4) Sometimes decrease.

mzm’rhmzﬁW:
(1) @ 8
(2) =i
(3) %P W Tad ¢
@) B T = R

(iii) Supply of a commodity is a :
(1) Static-concept
(2) Stock-concept
(3) Flow-concept
(4) None of the above.

T aw # g #

(1) fer-s@myron

(2) WUE-3EYRON

(3) WETE-TFYION

(4) I /A wE T8
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 (iv) When elasticity of demand is more than unity, it is called : |:|
(1) Perfectly elastic demand
(2) Perfectly inelastic demand
(3) Relatively elastic demand
(4) Relatively inelastic demand.
& Wi # e U | s B ¢, o 39 wed €
(1) Yofa: SRR |
(2) Uia: ISR [
(3) GMEE: S=eR A
(4) TNYE: ASEER 6

(v) A market in which there is a single buyer, it is called : I:l
(1) Monopoly Market
(2) Monopsony Market
(3) Monopolistic Market
(4) Duopoly Market.
% TR foad Bad ©F Fa @, 38 Fed §
(1) THIYHR I9R
(2) TEHAIFR A&
(3) UETYHRIHES qER
4 fafisr aewR

(vi) Which of the following is the basic features of perfectly competitive markets?
(1) Large number of Buyers and sellers
(2) Few number of Buyers and sellers
(3) Two-Buyers and Two-sellers
(4) One-Buyer and One-seller.

fre § | F- qoia: il aer #oge fewad #2
(1) o @ fpast 3t gen afys o

(2) woel @ famasi #1 {9 g@m ¥ g

(3) A-waesi w@ J-Tamasd = e

(4) UH-w @ H-fama 1 T
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(vii) Net-National Product is equal to : E:]

(1) GNP + Depreciation

(2) GNP - Depreciation

(3) GNP s+ Depreciation

(4) GNP x Depreciation.

S T 3K FqaR B T

(1) shwEd. + e

2 WMEd - e

(3) M. . qeIwE

(4) WMEEHR x JEIEEI

(viii) Which of the following is the mildest type of inflation? ::]
(1) Running inflation
(2) Walking inflation
(3) Creeping inflation
(4) Open inflation.
fra § ¥ FH-T GERER w1 geET TR 87
(1) Fed grEwt
(2) w=fa HqErehifa
3) Twi gReHi
@) g gEewif

(ix) When was Goods and Services tax introduced in India? -

(1) Ist April, 2015

() Ist July, 2015

(3) Ist July, 2017

() Ist April, 2017.

qa ¥ T @ 9 WA E g 9

(1) & 3@, 2015

) T YO, 2015

(3) T e, 2017
@) TH I, 2017.
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% (x)  Any time lag between production and consumption of commodities creates : :|
(1) Time utility
(2) Place utility
(3) Form utility
(4) Possession utility.
Fgell & INRT T I B e wE e g w @
(1) w9 IFAf
(2) M I
(3) &9 I
(4) w@fia v

2. Fill in the blanks : (10%0.5=5)
faa Al #1 9fF FifST -

(i) Income theory is also KNOWR 8§ ........cccciniinniennieissssensinisnaseiossssonsasens

T TR T S G, e e F 9W @ ot S oS R

(i) When the value of a commodity is expressed in terms of money, it is

o e s ioonsind bins s s saaidanmeat e romtnd
o e o UeT B OGN P U 0 I R WA R W T s,
wed 2

@(iii) Total utility is maximum when marginal Utility S ....ccoeveereeiiiiiinniiiiniicissesassnan
HAl I AfraT B R T TR TTRO <.coooovoeoceccinnnssssesssmsssssssessssssssssesss
ot ?

(iv)y A market in which there is only one seller of a commodity, it is called

.......................................................

T TR TS TF g B DA T FTDA B, TH oo ccssseenesssssssssesessessassssssessss
Fed 2
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(v)  Variable costs are those which vary with the level of ... g
L ee il o B R | S F W ® gy el #id
wR ?

(vi) When a demand schedule is depicted on the graph paper it become the .............c.c........
W U Wi SR T Y R A SR R T G s
A W 2

(vii) An apportionment of returns among different factors or production is
R L i e iinniirne R e
IARA ® FE ® d9 (A ®) WA F I T oo
Heaa 2l

L R CRR L ST are the rewards paid for the labourers for sparing their
productive services.

............................................... gfui ® fau oot sew avert d=elt & wfa e
TR B

) I e e tax means the rate of tax increases as taxable income
increase.

W i W H Y ¢ R AT A e W H W T
St 21

(x) According to Malthus in a country the size of population depends on
o s L TSNS
UeE & AR T H ST FT AR THB oooceenririrenssnsssmsssisnsnnss R
W st @@ #

26/000/(1,320)/C-390 8




»
Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-I
Examination of the Four/Five-Year Degree Course, 2018-19
SEMESTER-1I
FUNDAMENTALS OF AGRICULTURAL ECONOMICS
(AGECON-121)
SECTION - I
Qaug - 11
Time : 1 Hour 40 Minutes] [Maximum Marks : 60

The Subjective part (Q. Nos. 3, 4, 5, 6 and 7) is to be covered in the Answer-book provided for
writing answers. The Answer-book would be collected by the invigilator when the candidate
finishes as per rules.

The question paper containing the Subjective part can be taken by the candidates alongwith them.
I WM (W GEA 3, 4, 5, 6 W 7) B IW A wh IwW-Ifew 7 foedt &1 Iw-ghen
whendt g wH-vF T FA # 9% Haws g0 FremgEr @ o s

S W H Y- YhEred 9t WY @ S g €

3. Define the following : (5x1=5)
frafafas =t sfafia Fifg :

(i) '"Welfare' definition of economics.
e F1 ‘e’ qftEmn

(ii) Agricultural economics.
FiY g

(iii) Quasi rent.
anf fEoan
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(iv) Inflation and Deflation.
HETEHifa TE AGEHIfl

(v) Direct tax and Indirect tax.
TIY L TE TN F

4. Differentiate the following : (2x3.5=7)
frafafea 4 s+ sifag :

(i) Perfect market and Imperfect market.
i ¥R TE AY AR

(i) Law of variable proportions and law of returns to scale.

i sua F1 frm @ R w1 s w5 fem)

5. Write short notes/comment/justify the following : (2x6=12)
frefafaa #t gaw § feoit/avi/sren s :

(1) What is wealth? Explain the types of wealth.
Fofs #7027 gfs # yeR @ =wren i)

(i) Discuss the kinds and functions of money.

¥ (FHF) ® WHR TE Gerl H1 faEe sifsw)

6. Explain any two of the following three questions in 1-1%2 pages. (2x8=16)
frefafad 7 v § @ fRdl & @ IW 1-1% T § S :

(i) What do you understand by demand schedule and demand curve? State the various
determinants of the demand for a commodity.

HiM WROM TE W G W A9 F A §? O asg B A @ e ke w e
FifoQ)
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(i) Explain the concept of consumer’s surplus with the help of a example and diagram.
~ What are the assumptions to this?

INNE B AU FT FEAUROT F TF 2O § o7 F AneEm | guwnd) W F o
= F e

(iii) Define the utility. Discuss the types and characteristics of utility in detail.
IwEfe N sfafya U S @ YER e st w AR @ wwe)

7. Explain/describe in detail any two out of the following three questions in 2-3 pages. (2x10=20)
frefafaa = oAl F § e @ & Iw 23 & ° i

(i) Define the various concepts of National Income. Explain the differenent methods of
measuring national income.
T I # fafr= sEuronel # oftafie it T e A @ v Tl
F =S FIQ)

(ii) Explain the law of supply with the help of hypothetical and diagram. Also discuss the
various factors influencing elasticity of supply.
agfd & frm #t FeatE w7 fa F wR | Sren Ffw i S e S
wfas #6099 fafe= sl ®t |t fFEes S

(iii) Illustrate the Malthusian Population Theory. Write a note on the current policies and
programmes on population control in country.
euw B seE g ® wWe S I ¥ sAeen faan @ yefha A sk
Fwd W & feooi fafaa)

26/000/(1,320)/ C-390 1 [P.T.O.
26/4




